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Economic Value Added (EVA)

• Measure of financial performance, as an alternative to the more 
traditional earnings per share

• Source: global consulting firm

𝑬𝑽𝑨 = 𝑪𝒂𝒑𝒊𝒕𝒂𝒍 𝑬𝒎𝒑𝒍𝒐𝒚𝒆𝒅. 𝑹𝒐𝑪𝑬 −𝑾𝑨𝑪𝑪
𝐸𝑉𝐴 = 𝐶𝐸. 𝑅𝑜𝐶𝐸 − 𝐶𝐸.𝑊𝐴𝐶𝐶

𝐸𝑉𝐴 = 𝑁𝑂𝑃𝐴𝑇 − 𝐶𝐸. 𝑘
𝐸

𝐶𝐸
+ 𝑖 1 − 𝜏

𝐷

𝐶𝐸
𝐸𝑉𝐴 = 𝑁𝑂𝑃𝐴𝑇 − 𝑘. 𝐸 − 𝑖 1 − 𝜏 𝐷
𝑬𝑽𝑨 = 𝑵𝒆𝒕 𝒊𝒏𝒄𝒐𝒎𝒆 − 𝒌. 𝑬



Market Value Added (MVA)

CE = Capital employed at the beginning of the period

𝑀𝑉𝐴 = 𝑀𝑎𝑟𝑘𝑒𝑡 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝐶𝐸 − 𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 𝑜𝑓 𝐶𝐸
𝑀𝑉𝐴 = 𝑀𝑎𝑟𝑘𝑒𝑡 𝑐𝑎𝑝 +𝑀𝑎𝑟𝑘𝑒𝑡 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑑𝑒𝑏𝑡 − 𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 𝑜𝑓 𝐶𝐸

If 𝑀𝑎𝑟𝑘𝑒𝑡 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑑𝑒𝑏𝑡 = 𝐵𝑜𝑜𝑘 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑑𝑒𝑏𝑡:
𝑀𝑉𝐴 = 𝑀𝑎𝑟𝑘𝑒𝑡 𝑐𝑎𝑝 − 𝐵𝑜𝑜𝑘 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑒𝑞𝑢𝑖𝑡𝑦

𝑀𝑎𝑟𝑘𝑒𝑡 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝐶𝐸 = 𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 𝑜𝑓 𝐶𝐸 +෍
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Total Shareholder Return (TSR)

• Return of a 
shareholder who has 
• Purchased the 

stock at the 
beginning of the 
period

• Received dividends
that are supposed
to be reinvested in 
the purchase of 
new shares

• Sold the stock at 
the end of the 
period based on 
the last listed price

• TSR = IRR

• Rankings provided
by


